IECSRGBu2-Normhelligkeit L*

L* YocmL*w - nc=100,
L* |EcsraBuz=50 (YY) Y20(Y, =18, Y, /100Y<=Y,0)
L*\(3,6)=22,L* ,(18)=50,L*(90)=112

L*¢=111,80y=2,0, 14=1/2,0=0,50
L*15=50,00 §=50,09 D,=-0,00
L*36=22,30,L%,=50,00 Y=18

1,518
1200

Yn=3.6

IECSRGBuU2
Normfarbwertdifferenz
Yoc=L* w nc=100,
L* lEcsraBuz=50 (Y/Y) 20(Y, =18, Y,/ 100Y<=Y, o)
log(dY) = (1/2,0) log[2,0¢,/50)] + [1-(1/2,0)] logY)

-\
L* =50, dY,=4,00 dY,/Y,=0,2222 _ -~
log(dY)=4,00 m,=0,50
dYeo=8,94 yoo 1=1/2,0=
dY;5=4.00 §=50,0Q D,=-0,00 &
dY36=1,78 Y,=18 d\=4,00 1 bereich
1Y,=18
1 V=90

Yn=3.6

log AY/Y) IECSRGBu2
. Normfarbwertemfindlichkeit
SOV Yoc=L*w - nc=100,
L* iEcsraBuz=50 (Y/Y) 20(Y,=18, Y,/ 100Y<=Y,o)
log(dY/Y)= log[2,0(Y,/50)] - (1/2,0) log¢/Y,,)
= (1/2,0) log[2,0¢,/50)] - (1/2,0) log¥)

Iog(dY/Y): 0,65 m,=-0, 50
* =50, dY,=4,00 dY,/Y,=0,2222 1
(dY/Y}5=0,0993y=2,0, 1y=1/2,4=0,50
(dY/Y)g=0,2222 §=50,0Q D,=—p,00
(dY/Y},6=0,4957 Y,=18, dY=4,0p

1Y,=18

» Yw=90

N < herelch

Yn=3.6

log (Y/AY)
C,=(Y/AY)

IECSRGBu2

Normfarbwertkontrast

Y=L w nc=100,

L* iEcsraBuz=50 (Y/Y,) 20(Y =18, Y,/ 100Y<=Y,o)

log(Y/dY)= - log[2,0/,,/50)] + (1/2,0) log{/Y,)

= - (1/2,0) log[2,0¢,,/50)] + (1/2,0) logy{)
"\

* =50, dY,=4,0Q Y,/dY,=4

(Y/dYyo=10,56,y=2,0, 11,—1/2 040,50
(Y/dY)g=4,50 $=50,00 D,=—0,80
(Y/dY}y, 62,01 ¥,=18, dY=4,00 ¥ bereich
'v,=18

5 log

Yn=3.6

Anwendungs-

Anwendungs-

Anwendungs-|

Iy
{1

IECSRGBuU2 relative Normhelligkeit L*/L* ,
Ync_L w nc‘loov

L* 1csraBuz=50 (Y/Yy) Y2 0(Y =18, Y,/ 1002Y<=Y, o)
L* \(3,6)=22,L* ,(18)=50,L* ,(90)=112
L* c/L* :2,23 y—2 0, 14=1/2,0=0,50
,00 0,00 D= 0 0
L*SdL* =0,44,1%,=50,00 ¥;
log[L* /L* ,J=0, m,=0,49

Yn=3.6  Yyw=90

log(A Y/AY W)
AYIAY,

IECSRGBU2 relative
Normfarbwertdifferenz

Yoe=L*w ~ ne=100,

L* 1EcsreBuz=50 (V1Y) Y20(Y,=18, Y,/ 1002Y<=Y, o)
log(dY/dY,) = [1-(1/2,0)] loglf/Y,)

dYg/dY,=2,23,y=2,0, 11/'1/20 0,50
dY;¢/dY,=1,0Q S,=50,

5 )
dYs gdY,=0,44 Y,=18, d\g 24,00

* =50, dY,;=4,0Q dY,/Y,=0,2222 - =

Anwendungs-
bereich

YN=3.6  Yw=90

log [(AY/Y) I (AYIY)] IECSRGBU2 relative
Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.
L* 1EcsraBuz=50 (Y/Yy) Y2 0(Y,=18, Y,/ 100<Y<=Y, o)
log[(dY/YV)/(dY/Y),] = - (1/2,0) log¥/Y,,)

dY/Y}o/(dY/Y)=0,44,y=
Y@V 1g

(ENtRrEE(CNINT Vize® Anwendungs-

bereich
Iog[(leY)l(dY/Y)J] 0, m;=-0, 49
L* =50, dY,=4,00 dY,/Y,=0,2222 |
'y,=18
Yy =90

Y236
log [(Y/AY) I (YIAY),] IECSRGBuU2 relativer
Normfarbwertkontrast
ClCr=(YII(YIAY), oy 106,
L* 1EcsreBuz=50 (Y/Yy) Y2 0(Y,=18, Y,/ 100<Y<=Y, o)
log[(Y/dY)/(Y/dY),] = (1/2,0) log¥//Y,,)
(YIdY o/ (Y/dY)=2,23,y=2,0, 14=1/2,0=0,50

(Y/dY)g/(Y/dY)=1,00 §=50,0Q D,=—0,00
(YIdY} f/(Y/dY)=0,44 Y,=18, dY=4,00

Anwendungs-|
bereich

Yy=90




